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Al-F = =
; ~ApTeo the equilibrium constant for the following reactt ':
2CH,Clg) + Clg) = 2OCH,CLig + S

- K= HOhNM oD &

T - - CHp O E Iy
-'“".-i"ll.l {“E} el o i e S

mIL N

Ad- lh'rrmi“t the mi“i-t l‘q.“ihﬂ“m consianl. - 3
i A B e {- has Hq.ur-"l " Then C == A B
. " h“--h" ! Km--l- \' B K™ Fisand - Konarn™ -t

Al- Consider the following reaciion at mnilih.ﬁﬂll
N:O () # 2 NOdg) o ill g0 0 the ——*
By increasing the concentration of NOx, the react

= down

— -

fl a- right  b-Tefl O c- ap
| /k‘:}“'hli is the name of HNO,T | o
#- nitric ackd b sulfuric acid ¢- hydrochlonc acid .
I - | ni.
AS- Determine the value of the -i.u;n;' equilibrium consta
""‘l' = 2 BI.I.‘I K,=0. \z )
3By > o g2 2 a4 X2 T
Atfl = 3 C‘I‘i m- H "
a3 (EL
a- 4 043 (h. 0912 ¢ 0,031 d- 6.3
] . jus acid?
/q{ Which of the following is an Arrhen i —_——

b- WH,

o g % 10-4 M H30 at25°C

3 i J-&
7- late the of a solution that mIﬂlﬂs_ fred
A7- Calcu pﬂ ,%’

2.65
a 4.31 Lb—j__-!lJ e- 6,07 d-
i ing reaction.
uilibrium constant for the follow
i KCI0,(sy = KCIOsy+ 0.2 =
i S———
IKQORO?] K- KQOa) (4 K= [O2) P,
o o b K= %505 KOOI "
- What is the name of NaHCO,? — N Iy 1
. : : _ potassium hydrox
/A"f a- sodium carbonate b- sodium hydroxide W d- X
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s e
“ t of h for the following reactio® il the q:::‘-::l' L
Mi“', nn“ﬂ‘”au 1 M, LA
Hyg)+ Lz = 2 mw —
b'l." L [IRR - K i - & -
ing is a Brdnsted-Lowr base” :
b- NH, e« CHa - |
: ":*l{ .' miw .-cu H l‘(‘}-’ 7 i 3
j:‘""*' e - O e S
H value of the neutral solution cammremnnn =
1 ) Y &
ﬁthlh-in:ha“mn: acid? "
'Ii' ‘I-i-l
b HF { HLL, . .
" 2 »
: R L 1.3 107
concentration of Hi( in@ solution that contain®
RS 12 M
3“ hﬂ“'l“‘ll\d ;_-""""-Hrlll'\t 1_&[! {0 =
be following reaction at equilibrium
A(g}+Bu1+hﬂr- = Clg)*+ D&®)
the reaction will go to the ——
b- left c- up d- JoWT
oy of the universe s e ——
TR -
i b-l.'ul'liul.m o= dnkown d- 2E5%
L1
sures the change in internal :ntr-g al constani yolu
! b- Limet e 'hu‘l‘tﬂ‘! E_.!I-:lt"f"lﬂ'h\.lii > ) =
= - ) - - i l“‘. 1 -
kinetic and potential encrgies of all lhu'tuh.w .n the $Y= €
';I' ENCTEY b- electric energy ¢~ light d- specd
nes always contain a .
C - == "~ 4. C=H
'3 C single bond b CaC triple bond o (= C doubie pond_2 & Y
.. b ) ——
)emical reaction that gives heat 10 the surrounding s —
b- ill.lliln. C- hasic - '-m{ﬂthcm“‘"
carbon atoms )
= -
b1 c-3 | d- 4.~
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A23.

Ihe general formula for an aldebhvde s___——

e
" i X 28 A—OH
o A=0—H b n.-—-—|1-—ﬂ‘:3" f ¢ g0 .

. o "
A24- What is the name of CH,CH.CH,?

a- methane B piopahe Y R — <
AZS- What is the name of the compound below?
HoW M o
h " g 5
H - -éf c é‘“ Eﬂc"“

| | | I
H H,C H CH,

I : | e
G 24-dimethyl-1-pentene b dimethy)-2-butene ¢~ 1A-hexene 4- 2. Sdimethylpentane
_A26~ The structure of benzene is :

.,-l"
o -0 <Y
MO 0 <Y
A27- Which of these compounds is an alcohol?
3 CHyNH; "B CHOH ¢ CHOCH, & CHCONH:

__Aﬁ-‘Tht following reaction would produce .

1 CHsCH:OH + (0) ———» s+ H0
0 O
I EH;IL!; CHy !
g, CH:CH b CH,OH ¢ CHOCH, & -
A29. The correct name for the following compound is .
CHA
A
a- chlorobenzene D methyIbenzene c- ethanal d- ethylbenzene
A30- Which of the following is an ester?
o ﬁ

Il
s ¥ ——C—0OH b- CH,OH (L\-f““ c—O0—CHs 4. CH3CH3
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\ < The following reaction would producy

-
CH e Ol + By
'.I LA il 1:
= CIOmon y O, LW - .
A)).
—— B 8 polywuscchande.
b aliler™ '-,._L..__‘- ::1-‘- .
A3 w hich of the follow mng s a - - ““.“_._a
1
e " [ -
- - - i
- .
L] 1 (1]
—

m—

A34- Amino acids are linked together by 8 —

[]
peir Tl
Ealr

& Ll group e donabde Bomde

AZS Which of the following s a biopalymer 4

.- |
| FTRLCLL
{‘: J"Iii..-l'r:".-.. ol b LSO - CRVER )

>
Al6- How many isomers are there for butcne (CaHal:

\"._'*J 2 -3

-

r%' Which of the following is » carbolydrate:
»- phospholipid b- glucose ¢ DNA

- >
A38. How many hvdrogen atoms in the following structure.

s

Ao AD b 12 o 18

L
M- What are the functional groups in amino acids?
» (-CHO + -COOH) Gm.& COOH) ¢ (-OH+-CO)

7& Which of following is an organic compound”
& HCl b- NaOH ¢ Na(l

' Good Luck

ol

4 fa»
l
|
W ¥ e ||
2 w’ ~H
74, peptide boed
& oter
44
¢ *;
é 17
d*—l'{-‘“{} & 0=}
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—‘—_______

-
aleulate the pHl of » solntion that containe 7 % -

i L 1]
[ S==——
DI0- Express the equilibrivm comstant for Vae Tollos iy e tem
KO in) == WO+ O 1)
LA N LN [
= K= | KO0 = K - ’ -

D1 1- What is the name of W07

b M‘I il

D12- What is the name of Na 0,7

b g bvdromaae !

B niine mcud

sonliuem pecar
a- soddiumn carbonale

——
D13- What is the conjugate b
- HzCL) b BR4LD

ase of NaOH 2
e~ O

=D

lowing is i Rronsted-1Lo

D14- Which of the fol S

a- NH4'

=
D15 Calculate the value

h- N

'-'.-4

N2(g) * 3 Hug) =

b- 0.016 M
A~ l?.”: 3 M

pl6-The

-y

which of following jsan 0

- HCL

pi7-

p18- The structy

0

"j
a

1902-1

po-h A4 LML = 28

bu .,.l].-'.'

wry acid?

al
+ 5 M. \hﬂakq“"j‘“ »

= 12 NHME)
o 0880 M

¥ l_.'.-]_u_:,j,.l‘ll "-rd‘.."'"-"l.lh—

A COns

I.&.' l.. E'_-

Ke= 2

A. 0105 W

d- retv
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dthant pstant.
- ilibrinm €0
D19- Determine the value of the mmlknnpt':lllo
N2Og(g) # 2NO2R) I\_c A
3IN204(g) = 6 NO2R) Ke™ - o
B b e ﬂ_ll”
a- 111 b-9.12 h'p"“‘q'ssi'zsn("

D20- Calculate [H3O | in an agqueous solution wit o
T LIV I 2 A

| B S.8=10-13 M b-§ 0" -1t M -

-~ D21- The following reaction would produce - *

Clily # (D) -
A efaladetiy oo
o o
" “#ls 1"! (810
e CRCH b CH,OH ¢ CHOCH; & ©
’
D22- The general formula for an aldehyde is .
| o A=—0—R b I'I-—Il.!.—uﬂ - n—!!-—l'l ¢ R—0H
l o
D23- Which of the following is a Lewis acid?
a BF, b- NH, ¢ CH, d- NaOH
sty
D24- Alkynes always contain a
- C - C single bond b-("!(‘triplew ¢ Co C double bond ¢~ C=H bond
D25- Which of the following is a weak acid?
a- H,0 b- HF ¢- HOL d- HBr
Doz S8
D26~ Consider the following reaction at equilibrium
CaCOy(s) = Ca0(s) + COxg) _
The adding additional of CaCOj has ............. on the reaction equilibrium.
a- right effect b- no effict c- up effect d- down effect
Page 4 of 6 ﬁ
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< e .,-l.lllilil'l"l“m constant for the "III.I»II‘“II'IH reaciion.
2e N2g) + 3 H2g) = 2 NHg)

NIy f (N2 NHA 2 £
i = h h - ' c b 1"'!'" '."4.“1.'.||
" INasMIH M [NHYE gk ) a4k :

- L] l..;“t‘_'!i ™ H“-';. %

p28- The structure of methyl benzene is — -

L |

i

a 1 . | b l ] v l[ -}]l 4 il--f.f- 3 .i-' ) |
D29- Which of the following is a monosaceharide?
& phospholipid b- fructose c- DNA d- fnts
[Se——]
D30- The name for the compound with the formula CHCH,CH,OH s ...
&- propanol b- butane ¢- pentanol d- butanol
-
DJ31- is a polysaccharide.
a- cellulose b- glucose c- DNA d- fats
=

D32- The number of ¢ (sigma) bonds in CH3-CH-C~CH-CH-CH-CH-CH3 is .
a- 19 b- 15 c- 13 d- 18

e
D33- Which of the following is a biopolymer?

a- proteins b- ketone ¢- carboxylic acid d- ester
dmE
D34- Which one of the following is not an alcohol?
a- butanal b- methanol ¢- ethanol d- propanol
e

D35- What are the functional groups in amino acids?
8- (-CHO + -COOH)  b- (-NH; + -COOH) ¢ (-OH + -CO) d- («CHO

D36- Which of these compounds is an amide?
a- CHaNH, b- CH;OH ¢- CHyOCH, d- S'IHICC
Page S of 6
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d- potassium hydroside

DI~ What is the name of NaHCO,?
b= somlivom hvilros hode ¢ - smndivm hcorbonate

& sowdiym o arbwsngle

12- Determine the value of the mssing equilibrium constunt.

I
A = 2R, K, =0.24
2B, = 3C,, K, =38
_"1..!" = 3 {."' Hniiilﬂ ?
a- 4.0 3 bh- 0,92 c-0.031 id- 6_31%%
D3- Which of the following is an Arrhenius acid?
& H:50, b= NH; ¢« MNaDH d- CHaCHs
D4- Calculate the pH of a solution that contains 3.9 = 10-4 M H30 at 25°C,
s 4.3) b- 3.41 c- 607 d- 265

DS- Express the equilibrium constant for the following reaction.
2 CH,Cl(g) + Chyig) = 2 CH,Cly(g) + Hy(g)

. ICH3QRIO,) & K = JO0IG;)
Z (S

 [CHO RiHg )

o ICH2 O lHG
ICH3ARG, 2. [CHCTIC) [CHCI3 R IH3)
D6- Complete the missing equilibrium constant.
ssseme

IFA+B = Chas Kuua~ [CHIAIB]; Then € = A+BhasK___ =

 Kovww™ | / Kouad b- Kaverse™ Krwars C= Kavww™ Kpywad / 2 & Kpvene™ 0

D7- What is the name of HNO,?
a- mitric acid b- sulfuric acid
D8- Consider the following reaction at equilibrium
N:0,(2) = 2NOy(g)
By increasing the concentration of NO,, the reaction will go to the —vn

¢ hydrochloricacid  d- acetic acid

a- right b- left ¢ up d- down
D9- The pH value of the neutral solution is .
3.7-' b->7 =<7 d- zero
: ing is a strong acid?
p10- Which of the I'ullni:fw s g
- Page 2 of 6

Scanned by CamScanner



D21- Which of these compounds is an alcohol? "

a CHNH: b CH,OH e CHyOCH, d- CH,CONH:
D22- What is the name of CH,CH,CH,?
a- methane b- propane c- ethane d- hexanc
D23- A chemical reaction that gives heat to the surrounding is i
a- exothermic b- acidic ¢~ basic d- endothermic
D24~ The structure of benzene is - -
-0 +0-0 -0
e
D25- The following reaction would produce
(:ll: = CI!: + “r: ——
ti e
g b~ ¢ CHCHOL, ¢ ;,_J:n

D26- The following reaction would produce

CHyCH:OH + (0) == + H:0

Oy
| ]
= THCH b O
CHOH ¢ CHyOCH, d- t:u..!;'; CH,
D27- Which of the following is a carbol rate?
D28 r:.m | o ¢ DNA d fans
W many .“ﬂm at .i. .h
' o .
& |0
b |3
D29. The L — d- 17
correct name for the rd'“‘tlgm.
pound is —____
CH>
(I
* chlom ——
SeTrene h- methy lbenzene
C=
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D30- Which of the following is an ester?

(&

CH, -——!:!——DH ”

. b-CHyOH ¢ ©Ms —C—O0—CHs 4. CH3CH3
" I‘*-—————-— s a polysaccharide.

&- starch b- glucose c- DNA d- fats
D32.

The sum of kinetic and potential ene

: rgies of all particles in the system is ——- .
4 Intemal energy - electric energy

c- light d- speed

D33- Which of these species is an aromatic compound?
- (':H: b-

l:'ﬂH:.;- - (‘.}I;Br: d‘ f;\“m

n0 b-2 c-3 d- 4
D36- Which of the following is a biopolymer?
& nucleic acid b- ketone ¢- carboxylic acid d- enter

& (-CHO + <COOH) b- (-NH; + -COOH) - (-OH + -CO) & (-CHO + ()

D38- What is the conjugate acid of HCO3 ?
a- Hy(CO, b- HaO ¢- OH

d-COo,2-
| D39- Which of the following is a Brodnsted-Lowry base?
f a- HCl b- NH, ¢- CH, d- Cls
D40- Which of the following is a "cis" isomer?
( t." CH LHy L H, AHy H i
r ~ = = —
a H H h‘ 1 s | .
Page Sol 6
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D43- What is the pOH value of 5.2 x 10" M HNO; sok
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